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N. B.: (1) Question No.1 is compulsory.

(2) Solve any three questions out of remaining five questions.
(3) Assume suitable data if necessary.

1. (a) List all functional dependencies satisfied by the relation &
¥ | ] 2 \ W <o
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x| | o ‘&

(b) Explain Generalization and Specializati’gn:_ - g~ 5
(c) Explain deadlock in brief. CN 5
(d) Explain aggregate function with example., / 5

2. (a) Explain different data models w1m1ts&guﬁtag¢s and disadvantages. 10
(b) Draw E-R diagram for Car msuram;ﬁlﬁlpany that has a set of 10
customers. Each custumerﬁ._,ﬁ;gﬁfﬁﬁﬁ_ﬂf miore cars. Each car is zero OT
more accident records. ([ \
3. (a) Explain following ttms W, 10
(i) Primarykey Wd
(ii) Group by‘clapse
(i) Logk point”
(iv) dlotal pasticipation
(v) Déta independence
(b) Wm&:wlafe“ How it is created and stored? 10

4, (a}%}ﬁlﬁ}%ﬂm’? Explain different types of JOIN along with example. 10
Ab) ensider the following employee database 10
s giﬁpfuyuﬁ ( ﬂmp_name,straet,city,datc _of _joining)
"W, Works ( emp name, company _name, salary)
| Company (company name, city)
Manages ( emp _ name,managet _narme)
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Write SQL queries for following
(i) Modify the database so that ‘Deepa’ lives in ‘Pune’
(i) Give all employees of ‘XYZ corporation” a 10% rise in salary

(111) List all employees who lives in the same city as heir company

city {f

(iv) Display all employees who joined in the month of ‘March’ » -
(v} Find all employees who earn more than average salary of aii 4@"
employees of their company. S --.‘.1;'5?’ |

5. (a) Define Normalization? Explain 1NF, 2NF and 3NF with Exgl@ple P 'j Y10
(b) Consider the SQL query given below. Draw initial query -

transfom this initial query tree using heuristic query o ]1{ uﬁ”ﬁ )
SELECT p.ticketno j

FROM Flight as F, Passager as P, Crew as C_ If“ '-
WHERE F flightno=c.flightno AND | Qé’

S

F.Date="06 -23-15' AND NN
F.to= ‘Mumbai’ AND ~ 8\
P.name=C.name- & 3
g
6. (a) Define transaction? Explain transaqtﬁon s‘% diagram and properties of 10
transaction

”3
(b) Explain Differed database rxj*odlf‘t@tmn and immediate data base 10
modification and their dif \W context of recovery.
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